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a) The route of extensive development of production con-

nected with low intensity as well as adjusted low tech-
nological and constructional costs.

b) The route of high intensity using, in particular, the ef-
fect of high production utilisation of intensification and
non-intensification costs.
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Abstract: The article concerns an evaluation of intensification costs in an agricultural enterprise. Intensification cost dy-
namics are evaluated in comparison with the in-kind production volume. Using unit cost, unit intensification cost, unit
non-intensification cost, unit intensification differential cost, and unit differential cost as indicators, the effectiveness of
intensification costs is assessed. The effectiveness is expressed through absolute and relative changes in costs and in the
economic results. The said changes include production expansion effect, relative change in costs and economic results due
to unit intensification cost, relative change in cost and economic results due to unit non-intensification cost, and relative
change in costs and economic results due to unit cost. The individual changes are arranged into a pyramid and, after the
supplementation of the change in average market price, they can be used for comprehensive appraisal. The evaluation of
the dynamics of individual indicators and interrelations thereof provides an integrated view of the subject in question. As
the individual alternatives are rather extensive, only the growing and constant effectiveness of intensification costs are
evaluated within the article. The decreasing effectiveness of intensification costs will be discussed in a separate study.
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a) What is the minimum production intensity needed to

ensure the required profitability?
b) What is the effectiveness of further growth in produc-

tion intensity?
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1. The expression of relationships between simple indica-

tors can be used to reliably and easily identify the re-
spective degree of effectiveness. To do so, the
relationship between index and growths in the produc-
tion volume and intensification costs (or the relation-
ship between the development of the unit differential
cost and unit intensification cost, or the unit cost and
the price) is used.

2. The description of the impact of the individual degrees
of effectiveness of intensification costs on the devel-
opment of the resulting indicators and the increase in
the value of the economic consequences thereof. There-
fore, the impact of intensification cost degrees of effec-
tiveness on production, development of the profitability
rate and volume, and the profit volume will be evaluat-
ed.

3. Overall economic assessment of the individual degrees
of effectiveness of costs.
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a) Direct effectiveness of intensification costs. This view-

point divides the effectiveness into three groups: grow-
ing, constant, and falling.

b) Production volume dynamics. The production volume
grows, remains constant, and falls.

c) Profitability of production. In the basic period, produc-
tion is profitable, profitability is zero, and production
is unprofitable.
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Alternative 1: jdN < jdNI < jNI
0
 < jN

0
 < C

0

;���� ���
���
1. jdNI < jNI

0
 => jNI is decreasing, relative saving of costs

due to jNI occurs (∆VN/jNI < 0).
2. jdN – jdNI < jN

0
 – jNI

0
 => jNN is decreasing, relative

saving of costs due to jNN occurs (∆VN/jNN < 0).
3. jdN < jN

0
 => jN is decreasing, relative saving of costs

due to jN occurs (∆VN/jN < 0).
4. jdN < jdNI => non-intensification costs are decreasing
5. jN

0
 < C

0
 => profit growth due to production expansion

occurs (∆Z/Q > 0).
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Alternative 2: jdN = jdNI < jNI
0
 < jN

0
 < C

0

;���� ���
���
1. jdNI < jNI

0
 => jNI is decreasing, relative saving of costs

due to jNI occurs (∆VN/jNI < 0).
2. jdN – jdNI < jN

0
 – jNI

0
 => jNN is decreasing, relative

saving of costs due to jNN occurs (∆VN/jNN < 0).
3. jdN < jN

0
 => jN is decreasing, relative saving of costs

due to jN occurs (∆VN/jN < 0).
4. jN

0
 < C

0
 => profit growth due to production expansion

occurs (∆Z/Q > 0).
5. jdN = jdNI => the intensification cost difference equals

the cost difference, thus, the non-intensification costs
remain constant.
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Alternative 3: jdNI < jdN < jNI
0
 < jN

0
 < C

0

Alternative 4: jdNI < jdN = jNI
0
 < jN

0
 < C

0

Alternative 5: jdNI < jNI
0
 < jdN < jN

0
 < C

0

;���� ���
���
1. jdNI < jNI

0
 => jNI is decreasing, relative saving of costs

due to jNI occurs (∆VN/jNI < 0).
2. If jdN – jdNI < jN

0
 – jNI

0
 => jNN is decreasing, relative

saving of costs due to jNN occurs (∆VN/jNN < 0).
If jdN – jdNI = jN

0
 – jNI

0
 => jNN is constant, zero rela-

tive change in costs due to jNN occurs (∆VN/jNN = 0).
The relative saving of costs is composed only of the
relative saving of intensification costs.
If jdN – jdNI > jN

0
 – jNI

0
 => jNN is growing, relative

excess of costs due to jNN occurs (∆VN/jNN > 0).
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The relative saving of costs is lower than the relative
saving of the intensification costs by the relative ex-
cess of non-intensification costs.

3. jdN < jN
0
 => jN is decreasing, relative saving of costs

due to jN occurs (∆VN/jN < 0).
4. jdNI <  jdN => non-intensification costs are growing.
5. jN

0
 < C

0
 => profit growth due to production expansion

occurs (∆Z/Q > 0).
The relative saving of costs is given by the aggregate
of the relative saving of intensification costs and rela-
tive change of non-intensification costs. With the pro-
duction volume growing, profit increases progressively.
Profit growth is composed of the relative saving of costs
and profit due to production expansion.

Alternative 6: jdNI < jNI
0
 < jdN = jN

0
 < C

0

;���� ���
���
1. jdNI < jNI

0
 => jNI is decreasing, relative saving of costs

due to jNI occurs (∆VN/jNI < 0).
2. jdN – jdNI > jN

0
 – jNI

0
 => jNN is growing, relative excess

of costs due to jNN occurs (∆VN/jNN > 0).
The non-intensification cost growth drains the saving
of intensification costs due to a higher production util-
isation thereof as well as the relative saving of intensi-
fication costs.

3. jdN = jN
0
 => jN is constant, zero relative change in

costs due to jN occurs (∆VN/jN = 0).
4. jDNI < jdN => non-intensification costs are growing
5. jN

0
 < C

0
 => profit growth due to production expansion

occurs (∆Z/Q > 0).
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Alternative 7: jdNI < jNI
0
 < jN

0
 < jdN < C

0

;���� ���
���
1. jdNI < jNI

0
 => jNI is decreasing, relative saving of costs

due to jNI occurs (∆VN/jNI < 0).
2. jdN – jdNI > jN

0
 – jNI

0
 => jNN is growing, relative ex-

cess of costs due to jNN occurs (∆VN/jNN > 0).
3. jdN > jN

0
 => jN is growing, relative excess of costs due

to jN occurs (∆VN/jN > 0).
4. jN

0
 < C

0
 => profit growth due to production expansion

occurs (∆Z/Q > 0).
This growth is fully drained by the falling effectiveness
of the non-intensification costs.
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Alternative 8: jdNI < jNI
0
 < jN

0
 < jdN = C

0

;���� ���
���
1. jdNI < jNI

0
 => jNI is decreasing, relative saving of costs

due to jNI occurs (∆VN/jNI < 0).
2. jdN – jdNI > jN

0
 – jNI

0
 => jNN is growing, relative ex-

cess of costs due to jNN occurs (∆VN/jNN > 0).
3. jdN > jN

0
 => jN is growing, relative excess of costs due

to jN occurs (∆VN/jN > 0).
4. jN

0
 < C

0
 => profit growth due to production expansion

occurs (∆Z/Q > 0).
The growth is fully drained by the falling effectiveness
of non-intensification costs.
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Alternative 9: jdNI < jNI
0
 < jN

0
 < c

0
 < jdN

;���� ���
���
1. jdNI < jNI

0
 => jNI is decreasing, relative saving of costs

due to jNI occurs (∆VN/jNI < 0).
2. jdN – jdNI > jN

0
 – jNI

0
 => jNN is growing, relative ex-

cess of costs due to jNN occurs (∆VN/jNN > 0).
3. jdN > jN

0
 => jN is growing, relative excess of costs

due to jN occurs (∆VN/jN > 0).
4. jN

0
 < C

0
 => profit growth due to production expansion

occurs (∆Z/Q > 0).
The growth is fully drained by the falling effectiveness
of non-intensification costs.

5. C
0
 < jdN => relative excess of costs is so high that it

also reduces the profit volume in the basic period.
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Alternative 1: jdN < jdNI = jNI
0
 < jN

0
 < C

0

Alternative 2: jdN = jdNI = jNI
0
 < jN

0
 < C

Alternative 3: jdNI = jNI
0
 < jdN < C

0

;���� ���
���
1. jdNI = jNI

0
 => jNI is constant, zero relative change in

costs due to jNI occurs (∆VN/jNI = 0).
2. jdN – jdNI < jN

0
 – jNI

0
 => jNN is decreasing, relative

saving of costs due to jNN occurs (∆VN/jNN < 0).
3. jdN < jN

0
 => jN is decreasing, relative saving of costs

due to jN occurs (∆VN/jN < 0).
4. jN

0
 < C

0
 => profit growth due to production expansion

occurs (∆Z/Q > 0).
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Alternative 4: jdNI = jNI
0
 < jdN = jN

0
 < C

0

;���� ���
���
1. jdNI = jNI

0
 => jNI is constant, zero relative change in

costs due to jNI occurs (∆VN/jNI = 0).
2. jdN – jdNI = jN

0
 – jNI

0
 => jNN is constant, zero relative

change in costs due to jNN occurs (∆VN/jNN = 0).

3. jdN = jN
0
 => jN is constant, zero relative change in

costs due to jN occurs (∆VN/jN = 0).
4. jN

0
 < C

0
 => profit growth due to production expansion

occurs (∆Z/Q > 0).
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Alternative 5: jdNI = jNI
0
 < jN

0
 < jdN < C

0

;���� ���
���
1. jdNI = jNI

0
 => jNI is constant, zero relative change in

costs due to jNI occurs (∆VN/jNI = 0).
2. jdN – jdNI > jN

0
 – jNI

0
 => jNN is growing, relative ex-

cess of costs due to jNN occurs (∆VN/jNN > 0).
3. jdN > jN

0
 => jN is growing, relative excess of costs due

to jN occurs (∆VN/jN > 0).
4. jN

0
 < C

0
 => profit growth due to production expansion

occurs (∆Z/Q > 0).
A part of the growth is drained by the falling effective-
ness of non-intensification costs.
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Alternative 6: jdNI = jNI
0
 < jN

0
 < jdN = C

0

;���� ���
���
1. jdNI = jNI

0
 => jNI is constant, zero relative change in

costs due to jNI occurs (∆VN/jNI = 0).
2. jdN – jdNI > jN

0
 – jNI

0
 => jNN is growing, relative ex-

cess of costs due to jNN occurs (∆VN/jNN > 0).
3. jdN > jN

0
 => jN is growing, relative excess of costs due

to jN occurs (∆VN/jN > 0).
4. jN

0
 < C

0
 => profit growth due to production expansion

occurs (∆Z/Q > 0).
The growth is fully drained by the falling effectiveness
of non-intensification costs.
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Alternative 7: jdNI = jNI
0
 < jN

0
 < C

0
 < jdN

;���� ���
���
1. jdNI = jNI

0
 => jNI is constant, zero relative change in

costs due to jNI occurs (∆VN/jNI = 0).
2. jdN – jdNI > jN

0
 – jNI

0
 => jNN is growing, relative ex-

cess of costs due to jNN occurs (∆VN/jNN > 0).
3. jdN > jN

0
 => jN is growing, relative excess of costs due

to jN occurs (∆VN/jN > 0).
4. jN

0
 < C

0
 => profit growth due to production expansion

occurs (∆Z/Q > 0).
The growth is fully drained by the falling effectiveness
of non-intensification costs.
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